Mathematik
Klasse 9



Wende die Potenzgesetze an – Vereinfache – Fasse zusammen – Rechne Zahlenwerte aus.
	Nr.
	
	Nr.
	

	1
	43 ( 42 = 45 = 1024
	21
	a7: a7= 1 

	2
	97 ( 9 = 98
	22
	a0 + b0 = 2

	3
	36 ( 32 = 38
	23
	x3 + x3 = 2x3

	4
	45 : 43 = 42 = 16
	24
	53 ( 43 = 203

	5
	76 : 75 = 7
	25
	27 ( 37 = 67

	6
	x3 ( x = x4
	26
	x4 ( y4 = (xy)4

	7
	y7 ( y4 = y11
	27
	123 : 43 = 33 = 27

	8
	a3b2 ( a4b = a7b3
	28
	4a3 : 2b3 =2 (ab)3

	9
	5x2 ( 2x3 = 10x5
	29
	x2 ( x2 = x4

	10
	0,5y4 ( 2y = y5
	30
	x2 + x2 = 2x2

	11
	a8 : a6 = a2
	31
	x2 : x2 = 1

	12
	(x3y5):(xy3) = x2y2=(xy)2
	32
	a2 : b2 = (ab)2

	13
	20a5 : 10a3 = 2a2
	33
	7a2 ( 2ab = 14a3b

	14
	x9 : y7 =
	34
	(5x–4)2 =25x2-40x+16

	15
	4a3 : 0,5a = 8a2
	35
	a0+b0+c0+...+m0= 13

	16
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	36
	5x7 – 2x7 = 5x7

	17
	
[image: image3.wmf]3

4

3

1

4

1

x

x

×

 =s.o.
	37
	24a6 : 6a4 = 4a2

	18
	a4 (3+a2) = 3a4+a6
	38
	(-6a2)3 = -216a6

	19
	(a2 +5)2 = a4+10a2+25
	39
	(5a2b3)3 = 125a6b9

	20
	x : x = 1
	40
	(a+b+c+d+e)0 = 1


	41
	15a4 : 3a3 = 5a
	47
	_15a4_ : 3a3 +5a = 10a

	42
	15a4 + 3a3 = ende
	48
	y3 (x2y3 – y5 + 2y)=x2y6-y8+2y4

	43
	2(x+2)2 – (x-2)2 = x²+12x+4
	49
	a-n-3 ( an-3 = a-6

	44
	2x3 ( (_2x_)2 = 8x5
	50
	(k-2)a ( (k+2)a =(k2-4)a

	45
	(an+1)n-1= an*n-1
	51
	3x3 = 3x3

	46
	an-1 ( a2-n= a
	52
	(3x)3 = 9x3
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